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2008
ECONOMICS

Paper 1

{ Maximum Marks @ 300

Tine : 3 Hours |

INSTRUCTIONS

Each question ts printed both in English and in Kannadua.

Answers must be written in the medium specified (English or

Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space

provided for this purpese. In case of any doubt in the Kannada

text, pleuse refer to English text.

This paper huas four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory

Answer any three questions in Part D.
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9.

PART B

10x10=100

Answer each question in about 100 words. Each question carries 10 marks.

Define and distinguish between each of the following pairs of concepts :

National Product at Market price and Factor cost
Absolute advantage and Comparative advantage
Economies of Scale and Economies of Scope
Primary deficit and Budgetary deficit

Mutua! Funds and Venture Capital Funds
Explicit costs and External costs

Marginal Rate of Substitution and Marginal Rate of
Substitution

Accelerator and Super Multiplier

10. Demand pull and Cost push inflation

11. Laffer curve and Lorenz curve

Technical
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14,
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17.

PART C ax 15=9()

Answer each question in about 150 words. Each question carries
15 marks.

Explain the technique of estimating Gross National Product. Is it a
satisfactory indicator of economic welfare ? Substantiate your answer.

Describe Samuelson’s Revealed Preference Theorem. How is it superior to
Indifference Curve Analysis ?

Explain the objectives and composition of fiscal policy. How does it
promote economic stability ?

What is budget ? Iliustrate the significance of budgetary analysis.
Examine the main concerns of Hong Kong Ministerial Conference.

Discuss the causes of the reecent financial crisis. What Initiatives would
you suggest to manage the crisis ?
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PART D Ix30=00

Answer any three of the following questions, each in about 300 words.
Each qguestion carries 30 marks.

18. Explain the Cobb-Douglas production function and its usefulness in

economic analysis.

19. Explain the determinants of investment decisions. Discuss the nature of
investments for promoting employment and income.

20. Distinguish between progressive and proportional taxation. How can
progressive taxation help in ensuring distributional equity ?

21. What are the different kinds of disequilibrium in Balance of Payments ?
Suggest measures to solve the problem of structural disequilibrium in

Balance of Payments.

22. What is budgetary deficit 7 Analyse its implications for the economy.
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2008
ECONOMICS

Paper 2

Time - 3 Hours / [ Maximum Muarks - 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. In case of any doubt in the Kannad

text, please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

Al questions in Part A, Part B and Part C are compulsory.
Answer anv three guestions in Part D.
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PART A Ix5=20

Answer each question in about 50 words. Each question carries 5§ marks.

1. Define and explain the following with reference to the Indian economy :
(a} Human Development
(b)  Inclusive Growth
(¢c) Non-Performing Assetls

(d) Rural Infrastructure Development Fund
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PART B 10x 10=100
Answer each question in about 100 words. Each question carries 10 marks.
2. Explain the structure and characteristics of the unorganised sector in
India. Discuss the possibilities of organising labour and provision of social

security in this sector.

3. What is micro-finance ? Examine the trends in the growth of Self-Help

Groups in Karnataka under various programmes,

4, Discuss the Competition Act 2002. What are the powers and functions of

the Competition Commission of India ?

5. Discuss the Public Distribution System in India. How far has it ensured

food security for the poor in the country ?

6. Examine the impact of the Global Financial Crisis on the Indian

eCconomy.

7. Give a comparative analysis of the criteria adopted by the 10t 11" and

th Co . . _
12" Finance Commissions for devolution of resources across the States.

8. Discuss the structure of decentralised planning in Karnataka. Kxplain the
functions of District Planning Committee.

9. Explain the main features of Karnataka Rural Employment Guarantee

Scheme. What are the shelf of projects admissible under it ?

10. Examine the Provision of Urban Amenities in Rural Areas (PURAI as a

neo-Gandhian model.
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11. Consider the following data for Dharwad district in Karnataka State :

(i) Life expectancy at birth — 619 years

(i1) Infant Mortality Rate — G5 per thousand
(iii) Adult Literacy Rate — 71-61 percent
(iv} Female Literacy Rate — 546 percent

(v) Gross Enrolment Ratio —  84-30 percent
(vi) Income Index (PP) — (553

On the basis of the UNDP formula,

(a) State the maximum and minimum values for different variables.
(b) Calculate Health Index.

(¢} Calculate Education Index.

(d) Calculate Human Development Index.



08/2

(7)

TETMSD

1

5 61-9

o

6@%3’ LIOIOOE, [T

Loy
%)

11}

'

T STENY 03530

2

{11}

tgEe 7161

-
=

vlo] o]

A ¢
<2

11V

S RREOTONE TisTors

S
-
-~

Y

iv)

&

0-553 =@M

20l TeW (PP)

fv1})

TREA.

o,
ol
o,

&

SCIPR et Ve,

L SRR
[ PRV
!

ner MBE Tone TR

o

Z e A

o

u

i)

[
CRtn. Enldoie

£
&

ih)

6%5&&.

£

o

o

% SR,

OIS
=Y

al
L

& L;fe L3

Q)

[Turm over



082 (81}

12,

13.

14.

16.

PART C Gx15=50)

Answer each question in about 150 words. Each question carries 15 marks.

Explain the methodology adopted by High Power Committee on
Redressal of Regional Imbalances for identification of regional
imbalances in Karnataka State. What are the major recommendations

of the Committee ?

Assess the trends in fiscal imbalances in India in recent years. What are
the indicators of it ? Examine the role of FRBM Act in ({iscal

management in India.

Examine the place of agriculture in Karnataka economy. Explain the
objectives and basic features of Karnataka’s New Agricultural Policy.
How far may it help to achieve a growth rate of 4-5 percent during the

X1 Plan ?

5. Explain the debate on farm size, productivity and profitability. Arc the

views of Amartya Sen and findings of G.R. Saini contradictory ?

What is capital account convertibility 7 Discuss the major
recommendations of Tarapore Committec in this regard. What arc the

initiatives taken by the Government of India in this regard 7
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17, Consider the following information about India’s forecign trade for the

years 1999 — 2002 :

{10)

Year Unit Value Index Volume Index
Exports Imports Exports Imports
P P a, 4,
1999 — 2000 604-0 450-0 461-0 7050
2000 - 2001 624-0 487-0 5710 698-0
2001 - 2002 618-0 4930 593-0 7330

For the above estimate

(

{

(

al QGross terms of trade (yearwise)

b}  Net terms of trade (vearwise)

¢) Income terms of trade (yearwise)

Explamn how they are estimated.
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18.

19.

20.

21.

22,

PART D Ix30=90

Answer any three of the following questions, each in about 300 words.
Each question carries 30 muarks.

Examine the regional pattern of distribution of industries in Karnataka
State. Evaluate the policy measures undertaken to premote development
of industries in backward areas.

Discuss the various components of Agreement on Agriculture. Why does 1t
adversely affect developing countries ? What are the priority issues for
Indian agriculture at present ?

Examine the trends in human development across the districts as
brought out by Karnataka Human Development Report 2005. Identify the
major requirements to promote higher level of human development in the
State.

Distinguish between income poverty and human poverty. Examine the
trends in poverty in India. Critically evaluate the poverty alleviation
programmes in India.

Consider the following data about the Indian budget :

(Hs. tn erores!

{1} Revenuc receipts 54,950
(11} Capital receipts 39,010

{a) Loan recoveries and other receipts 5,710

(b) Market borrowing and other liabilities 33,300
(1117 Total receipts 93,96
{iv} Revenue expenditure 73,510
fvi Capital expenditure 31,800
(vi? Total expenditure 1,05,310

(vii} Interest payments 21,500
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From the above data, define and estimate the following :
(a) Fiscal deficit

(b} Revenue deficit

(¢) Budgetary deficit

(d) Primary deficit
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